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WESES 94,029 £H 688 £E 864| £E 9217\ 2H 851| 2 EF 7671 2EH 2,122 2F 1,750/ £H 9,935
1|&iR™ 110,177|%8FHH 1,466 EEIR BT 1,839|€Rth 14,022| RIGTH 5017 &Rt 9,370| B @ h 3,151 |SLV=FH 2,227\ KiETHh 12,801
2| &WV=FETh 106,959 {E&H 1,250 B ELH 1,834/l B 13,137;FH 1,170/ &LV =FH 9,268 | Frimh 2,665 ;EHATH 2,186 &Rt 12,776
3 KiEH 103,403 | R &R X &F 1,225|f8 5™ 1,731 =B 12,1023 1,006 FEtH 9,132|E U 2,619 #ETH 2,069 HETH 12,083
4| BE[MHh 101,823 | #B1Z /R H 1,198 B HEH 1,535/ IUAzTH 11,952| FEH 995 &40 8,966 | FkHTH 2,582 | &R 2,057 & 11,859
51L&t 101,530 R 1,124 &fath 1,505| H#RTH 11,838|#ETH 964 R ANXER 8,936 f@E ™ 2577 fRE™T 2,046 R AR X &R 11,678
6125 101,381/ kKB TH 1,118 | FEuth 1,396 EUth 11,637 R &R X &R 956 | BEATH 8,924 Ki&tH 2,522 1|5 th 2,034 F5RATH 11,674
7| REEAX &R 101,153 FEh 1,060 K4 th 1,287 11,578/ SV =FH 940 | B[ th 8,545 & & 2,448 1LOtH 2,001 | [T 11,621
8|JllETH 100,186 | F&# = H 1,041 lLAaTH 1,281lLAavH 11,387 | &R TH 934 |1 ETH 8,534|lLUfsTh 2,445 FHETH 1,996 =Lvi=FTH 11,528
9| liRsTh 100,159 F#[EH 992 &R 1,265 KiEmh 11,355 &#ath 923 | [T 8,491 L& 2,442 BFFTH 1,988| KB th 11,509
10 #&/ETH 99,728 | B [E 976 HItE™ 1,245 3R H 11,286 | #05xILLH 900 B Exh 8,487/ ETh 2438 FEH 1,963 E LU 11,471
11 EWmH 99,621 {2 & 959 | RiI&H 1,233|#8FH 11,110/ 2iRH 892 [ & 8,415 HitE™ 2,427 | KiETH 1,955|#&Emh 11,353
12| &R 99577 ELUTH 890 REATH 1,206 ZHE™ 11,108 #B#E[EH 891| &t h 8,306 ;E#ATH 2,393 lLFzH 1,953| )11 TH 11,320
1338 99,354 & 40T 838 BT 1,186 |52 tH 10616/ B 889 Ik BT 8,252 [L & 2,391 B8R TH 1,939/ {lI& 11,196
14 EZBH 99,317 | lUfsTh 757 |f&fE 1,088/ t2&™ 10,613 BELH 880 | JI[I&TH 8,220 | F¥[E 2,384 KETH 1,922 | #LiRETH 11,093
15| FFEmh 99,219 ;E#¥A T 751 AL 1,077/4L& 10,295t Lo 880 ;Eth 8,069 FH# =T 2,382 BERETH 1,909| &R TH 11,084
16| [@LTH 98,670 #riEath 141 EEH 1,067 Stth 10,1484 & 855 | tH1E R T 8,062 FZEH 2,339 Ik B 1,907 FEm 11,013
17|l B 97,545 %R 736 KETH 1,052 EIRE™ 9,788 | fHETH 841| KiZh 8,044\ &;Rh 2,328 B E BT 1,904 =R 10,944
18| F&=EH 97,400 H&R T 728| I B 1,038 B ELH 9,591 |RIfE™ 835 fE&™ 8,032| &LVvi=FETh 2,281 R R AR X &R 1,898|FkATH 10,901
195%™ 97,191 #&EH 7122| =B W™ 1,037 |#8mHh 9,581 |E1UTh 819 ELUh 8,027 E¥th 2,275 #himmh 1,898/, B 1H 10,753

20| fBHE R H 97,178 ¥ I 694 fE B 1,021 KPR 9,519 KR th 816| F&R = h 7,992 &¥ATH 2,246 S 0tH 1,888 Lzt 10,454

21 R 96,943 )I| I 693 #Fhimmh 997 FE™ 9,497/ /KFh 815 llEm 7,969 | IR #P X & 2243 R 1,886 E#ATH 10,360

22 B ET 96,575 AL ET 693 = 0 971 FkHETH 94572 HEM 811 | lUfsh 7,968 | [FLUTH 2241 ElUH 1,847 2 EM 10,353

23;EmH 96,423\ SLM=FETH 691 | FHEH 964 )I1W& T 9,423\ AR F;™H 803|Fri;mmh 7,963 BT 2,240 HItE™H 1,792 &2 10,222

24| f@E ™ 95,718 | #L1% 690 | F0Fr U™ 961 BRAPXER 9,415 &% 800 Kyth 7,890 3& 2,210 FogrUH 1,792 [ &TH 10,144

25 KETH 95,557| K9 689 = LU 862 9,380| 1| I Th 799| HER T 7,856 J1|I&TH 2,206 [ LT 1,779 F#EH 10,111

26 i 94,964 BT 686 ;& 850 [L & 9,340 fEETH 7193 A ET 1,734/ 2 HET 2204 {EE™ 1,770 & &0th 10,091

27 MR 94,928 & 658 |#NiITh 822 | RE[ETH 9,307 &&0Th 792/ luO™ 7,653 T 2,197 #ETH 1,741 |8 10,057

28|[LET 93,960 KiEm 657 | 5% 811 #Ith 9,281|F& = 786 | fHE ™ 7,587 |4 ETH 2,189 & 1,733/ lLAOTH 9,974

29| KBrth 93514|t2@™H 648/ [LE&T™ 808 #LiRH 9,227 BT 775 |fEET™H 7,531 |lLA™ 2,161 FATH 1,731 5B 9,823

0(lLAT™H 92,358 FAHT™ 637 #KHET 7153 E¥m 9,206 ¥ 172/ )KE 7,508 &40 2,136 KHth 1,729 B[ 9,785

31 f@AT 92,072 Hi¥E™H 619|ILUfzTH 745 | fEETH 9173 KiETHh 755 | BIfE™ 7,469 )KF 2,127 bETH 1,728 R ¥ tH 9,714

32 HiItE™ 92,000 ;M 611 L& 7381 ET™ 9,127/lLA 154 ERE™ 7,456 | =& 2,070 EHRH 1,707 | #H4E[E H 9,686

33 REARTH 91,499 #ALUTH 608 ;EfATH 729 | t2RE ™ 9,059 | L% 753 | #3iT T 7,455 | fAHR[R T 2,069 &R 1,704 ;ZH 9,572

M EFHTH 91,490 & mh 593 | HHR[R T 3| ELV=FET 9,020 ;E¥ATH 745 ;E¥TH 7450 =R 2,059 ;M 1,698 H#&HFH 9,538

35| EHITH 91,273 FFH™ 570 SLV=FET 699 {EEH 8,780 K& th 7117 5h 7449 BEKTH 2,027 EHFH 1,660 /KBt 9,279

36 S EnH 90,796 | & LU 556 | FEEH 696 B 8,769 EEIRETH 713 | ARER™H 7,393 | KRR 2,006 REATH 1,650 Hil4&™H 9,139

71 ERET 90,543 db il 555| R fFh 662 FE =T 8,753| B I&™H 701|3RH 7,384 |f2[™H 2,005 fBHE[R T 1,634/ 85T 8,980

38 |ALIE 90,427 | BEATH 548 | R TH 658 fRIR[R 8,717 &R 692 fLiETH 7,272\ &R 2,005 =& H 1,628 XHth 8,969

39 f@HH 90,051 ZE 517 ¥ UTH 643|dt il 8,658 f&@F 667 =BT 7,260 K;ET 1,999 | K 1,624 #31Uth 8,771

40 K& ™ 89,643 ™ 513 #&Eh 622 #alUmh 8,615 K B 654 | F3[E™H 114948 1,958 &#ath 1,601 {2 tH 8,520

41 BT 89,163 EE R E™ 493 | &R 622 ;EfnTh 8,593 | Frimmh 646 KFFmH 7,138 #LIR T 1,921 #TH 1,600 & & H 8,509

42 S 88,978 EH T 462 |{@H T 617 REARTH 8,431 [ LLtH 629 Kix 6,981 {@H 1,910/ 8 FHH 1,584 db AL th 8,504

43| Kpth 87,625 K& 449 | RE[E T 612 [T 8,398 BEATH 611 BB/ 6,953 SR 1,891 K& mH 1,574 BELTH 8,489

44\ ¥3iITh 87,355 & 445 |1 I&tH 599 Ri{ETH 8,376/ lli&Th 606 | FOFX LU 6,944 ;EmH 1,889k AL 1,570 EIRETH 8,387

a5 {EEBH 86,998 FNFr LT 4303 TH 572 E&H%™ 8,304| L& 580 {x & 6,936 | #ALLTH 1,882 | &/ ™TH 1,549 #nFrLth 8,156

46| EH™ 86,477/ 1lLAOTH 426 | KE™ 559| &40 8,270 ¥ Lth 545 @ FH 6,734 #¥iITh 1,815 BT 1,512 RIGTH 8,153

47 B 86,463 = W& 423 | FRETH 546 | K& 8,196 | #\ITh 515 #LlUH 6,648 |t fuinl T 1,768| L& 1,502 #3iIvh 8,149

48|db i th 85,261l B 421 | R AR X &R 537 & & 8,039|f2ETh 468 H&HE™ 6,595 | F0Fx L™ 1,767 EIRE™H 1,488|f8FH 8,105

49 #ALlUTH 85,115 KPR 21 E¥ 531 K5 7947 5 &HF™ 453 | FX AT 6,482| K&t 1,767 | #L1R H 1,382 | fERTH 8,067

50| B & Th 83411|fEE™ 417| K 513|KF ™™ 7,895 Lz 447 RIG™H 6,363 EEIRE™ 1,708 Ri&™H 1,364 R¥rmh 7,943

51 #Erh 81,650 [L&Th 385 | #L1R 464 FOFrLTH 7,442 ®ETH 440 | dL A Th 6,221 | AR ERTH 1,515 #3 Ut 1,357| & & th 7,367

52 F#1Fx L 81,327 R EF;mh 203 H & 313 AR 5,439 | BERE ™ 387 = &TH 6,125/ fEE™ 1,509 FRE/TH 942 FRET™H 7,095
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WESES 6,066 2= 4592 £ F 5,844 2[F 2,298 2FH 6,725 2[F 2,321|2H 10,858 £ H 22,227
1kKEtH 8,249 E40th 6,090 |l BT 7587{E& ™ 2,739 SLV=FEH 8,084 £;iRth 2,985 SLV=FEH 13412\ #ATH 27,542
2|l 7,907 )| I& T 5,995 S 7543 RIG™ 2,657 EUT™H INFYEEEIETT 2971 | &R 13,209 | &/ H 26,766
3 FEEH 7,881 Ki#EmH 5,729 € RH 7514l B 2,652| &R 7,751 lLA™H 2823|f@aET 12,910 B[ H 25,866
4/l 7,771 HHE[RT 5611 S50t 7,326 [ BT 2649 FZR 7,636 Ko 2,800 | B%[E T 12,174/ &LV =FTH 25,652
5t &H™ 7,634 |84 5,582 | #aTh 6,984 1R H 2,604 #ETH 7,634 EET 2,795 Lz 12,143/4L& 24,956
6 FZRM 7,437 R ERRX &R 5,569 | & LU 6,945 £iRth 2,599 |If; B 7,570 LA™ 2,787 EHH 12,064 BBERTH 24,386
VA= 45l 7,324 |1 ETH 5,486/ ILOT™H 6,877 KiEh 2,596 | [L & 7,504 S %0TH 2,719/ F&#E™H 11,901 KFth 24,331
8 FEM 7,150/ E U 5384 & 6,783t il 2,526 BERH 7432/{lETH 2,715 11,510 #B& R H 24,228
9 {2 7,062 F ™ 5,355 |f@E&Th 6,687 RALLTH 2,502 | L% 7,343 LM% 2,712|t8RE™H 11,422 ;E¥TH 24,146
10| 2% [# 7,037 [ ET 5,309| & #xh 6,664 tHIER T 2,480/ )1 & 7,217/ &W-F T 2,660| 2R IR AR X &R 11,386| &R TH 24,063
1148EmH 6,840 SLV=F T 5261 | Kot 6,564 AR 2,469 | R HARX EB 7,217 §3@m™H 2,645 iR 11,379 #&ETH 23,976
12| &R 6,817 L& 5,224 BEARTH 6,505 EHH 2,456 |{&ETH 7,196 =L 2,624 S 50TH 11,293 FEmH 23,767
13 &HEM 6,759 &;RtH 5,222 S¥ATH 6,420 ¥AITH 2,440 | FR&RTH 7173 ;EW T 2,600/ E LU 11,262| K;E™H 23,702
14| B Hh 6,740 ZRtH 5,162 | fLiE 6,361 #L1RH 2437/ lLATH 7,172 e KT 2,551 | 1| &t 11,251 EIRB™H 23,504
15| B EBX AR 6,728 FH =™ 5,148 F&ME™H 6,360 JI| I TH 2,405| Lz ThH 7,127 KRR 2,547 | KfRH 11,248 ¥ luth 23,424
16|15 6,660 f2&Th 5,095 | AREATH 6,333 {2 2,399| KEM™ 7123| KiEMH 2511 ;E¥T™H 11,201 | utH 23,384
17| 81#E™H 6,653 Frimm 5,047 |V =FE T 6,301 |SLV=FTH 2,393 5 40h 7114|58H™H 2,498 K& 11,194 | B#E™H 23,159
18 #Fiam™ 6,634 ;E¥ATH 5,025 LUz Th 6,268 | &% 2,385 FET 71103 {4EE™H 2,465 | Frim 11,089 R¥th 23,152
19|€RtHh 6,618/ 1lLAT™H 5017|[E&T 6,264 KRt 2,362 LET™H 7100\ [ ET 2464 \LETH 11,068 BEARTH 23,108
20 R¥rh 6,598 & LLTH 5,009 ELUTH 6,219 {2 &TH 2,361 | &R 7,068 H & 2,455 | B¢ fETH 10,990 | B IR &R X &f 23,079
21| &WV=Fh 6,543 B[ 4,981 ;E#ATH 6,213 &HATH 2,346 | Frim 7067 =R 2,426 | fAHR[R 10,963 )| vH 22,984
22 3Rt 6,441 FEth 4936 L& 6,166 ;EHATH 2,329 7,002|)I[1& T 2,421 | ReRTH 10,959;& 22,702
23| K#EMH 6,405 I B h 4827 f@HTH 6,158 E LU 2,325/3Rth 6,922 [ LT 2418 =R 10,889 3R th 22,569
24L& 6,359 #AITh 4793 Fimth 6,152 & 2310/ ET 6,906 & 2,409 E&H™ 10,885 f#F TH 22,428
25 fRHEET 6,238 RARTH 4,792 KT 6,018 ElZH 2,284 | 1UTh 6,890 FE = 2,405 Bi¥ET™H 10,863 B E™ 22171
26 FFRETH 6,108 | LUz TH 4775 FHE=TH 6,007 =BTH 22712 ET 6,794 I ETH 2,400 | L% TH 10,836|t2 & 21,984
27 B&HT 6,073 {4E&B™H 4,751 | KR 5,959 1LATH 2,270 ;EMATH 6,783 &HaTH 2373|[LET™ 10,826 K&t 21,942
28 KBrth 6,053 S#ATH 4,649 |)1|&tH 5,958 R AR X &R 2,268 EIRET™ 6,770 B FFth 2,353| &R T 10,769 F#BETH 21,262
29| &t 6,028 EHH 4598 3R 5,953 FFFTH 2,260 | fB¥R[R 6,756 | BT 2345\ RE™ 10,7555 & 21,168
30| FT™H 5,660 3R H 4,583 f&[E 5,886 F& = 2,239 | t&[E 6,727 R A X &R 2,324 FEH 10,737 #03x1Lth 21,114
=k 5,642 JKETH 4554 B RFTH 5873 EIRET™ 2,235/t il 6,687 {2 2,319 B 10,730 ERB 21,105
32 ;EMATH 5438 HHE™ 4415 % ETh 5,748 BRERTH 2,227 KR 6,680 fRIZ[R 2,303{kE™ 10,728/t L T 21,000
33 BN 5411 BEARTH 4366 KFTH 5,740 S %0tH 2212/ Kot 6,671 fAET™ 2,295 1R 10,688 KB H 20,935
34/ LT 5,155 KRt 4,342 | &[T 5,737|lLfsTh 2,177 BERT™ 6,608/ JKE 2,288 K& 10,635 &Rt 20,835
35 FkETH 5130 A &Th 4,299 H AR EB 5,694 1 ETh 2,158 K¥h 6,544 ;FmH 2,249l 10491 5 & 20,721
36 I 5,060 {EFH 4246 =R 5692 A HET 2,134 |5 6,536 i 2248 B HET™ 10,405| FH fFth 20,707
37 BFFTH 4,998 FHFFTH 4,240 HEIE[ETH 5,630 fEETH 2,132 | FHET™H 6,533 R E™ 2,209 EERTH 10,377 | El&TH 20,375
38| LUt 4,901 {ERE™H 4,232 RigT 5,595 ;&M 2,113| B I&™H 6,454 | =& H 2,196k B 10,328| Uz TH 20,254
39 | ALIE 4,890 K&oth 4224 EEIRETH 5,538 K&oth 2,110/)KF 6,393 BB 2,187\ =EiEH 10,299 F%[Eth 20,219
40| Ko th 4,708 BRE;TH 4187;F 5,524 REARTH 2,093 | BB 6,366 ¥ ITH 2,161|7KFTH 10,273 |8 20,188
41| BiETH 4,601 = &5H 4,148 E&H 5515 FFEh 2,089 5ath 6,306 A E™ 2,149 3 lumh 10211 | K5 19,994
42 i 4597 #h 4126 BHET 5407 EHTh 2046 EETH 6,275 AR 2,122 tBFHTH 10,206 #3iTTh 19,568
43 fFru 4,350 dL A Th 4078 A ET™H 5,225 Hit&™H 2,037 BRE@TH 6,273 ¥ IUTH 2,060 #F T 10,182 H & 19,531
44 |EE™ 4,285 #LiRH 4,038 HItE™ 5,087 JKETH 2,014 BRRFTH 6,214 1 Eh 2,058 ¥\ TTh 10,022 #L 1R v 19,009
45| [LE™™ 4210 RIGTH 3,960 R EFh 5019 REFTh 2011 |/f8HH 6,069 HItE™H 2,025 f0Fru 9,971 f8# 19,001
46 &[T 4,098 HitB™H 3,907 HFT™H 4934 Friath 1,990 #a U 6,022 T 2,022 9,946 (£ & 18,336
47| ERET 4,068 H&HM 3816 FE™ 4,856 HHM 1,963{£E ™ 6,015/ dt il 1,962|dL L 9,866 = LLUTH 18,106
48|{EEB™H 4,056 REFTH 3,698/t i 4,755 BERE ™ 1,943 #3TH 5994 FEH 1,885 FETH 9,682 EHRH 16,844
49| KiGH 4033 EEIRE™ 3,593 #aluth 4,739 F0FRLLTH 1,888 | #N &k ILH 5741 R¥ 1,842 Kt 9,560 Iy BB 16,842
50 & &0 3,877 #1FxIUth 3,476|FkAT™ 4610 #21lumh 1,778 RI&™H 5,689 RI&TH 1,834 & th 9,502 S 40h 16,688
51 REARTH 3,846 FhHETH 3,230| R&RTH 4,600 FETH 1,764 #XA T 5,632 FOFr LT 1,820/ fEE™H 9,450 S¥ATh 16,665
52| AREATH 2,765 A IUTH 3,215 FFrLTH 4571 #HFETH 1,713/ 5 &F™H 5,209 #XHTH 1,497 | ARERH 9,354/ lLATH 16,427




